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Review the various homotopy groups, and what kinds of topological

defects they correspond to. " reiad . . X
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Draw three different kinds of topologlcal defeclcs in a nematlc liquid
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Overview the goals of homology theory. " m\’_‘_n\m\ debecs
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@ Define a simplicial complex. . W . ) .
S'm%\ici«l vl - CW - compley bl t f:lr Cf./ L\ij .&/;@hﬂw
ungl0s Simplis

0 -sinpex
KD - .P' pride B ol boday A S
, P, Py N rug be’diSHAd'
A =z 7 [ repeated ronnh]
- (F,Pq,\ frlp B w1 A can have

Same boundar 7o

P . -
AP - {:\E 0987 09 e (G0
v (0

l S s s{hqpl\'u'cx\ Comp(d¥

>l fats) i [NOT §led i)
!

8



Define the space of r-chgins. What is the boun%a.{y operator 0,7
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(6| Show that 9,10, = 0.



What if we replace simplicial complex with CW complex?



